Theorem 1.10 (Replacement Theorem). Let V be a vector space
that is generated by a set GG containing exactly n vectors, and let L be a };\;V\:’&&f p?,‘m
linearly independent subset of V containing exactly m vectors. Then m < n ‘
and there exists a subset H of G' containing exactly n — m vectors such that
L U H generates V.

Sec. 1.7: Q7  Prove the following generalization of the replacement theorem. Let 3 Z,JVV\‘S
be a basis for a vector space V, and let S be a linearly independent
subset of V. There exists a subset S; of § such that S U S; is a basis Le/W\V‘—OL/
for V.
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